. Echinodermates have primitive nervous system.
Justify your response with the example of starfish
(draw diagram).

ThigaeHe H Sy dfren o 9 S g1 319 St
I THE & 3[R % WY g wifse (st smmE0) |

. Describe the excretory organs in Aschelminthes
with the help of well labelled diagram.

UfReheerTolts & st 3771 ! YAMIfRd fos st T

T FArAfaa Hifeg |

. Throw light on Physiology of respiratory pigments
in the invertebrates.

STHIGER] B TAET ISR I HIh! T Y ST |

. Enumerate feeding in Amoeba. Draw diagrams.

srfter § eMerR &I fag=m wifsw) o sAEw)

. Comment upon the organisation of coelenterates
and hydrostatic skeletons taking example of hydra
and drawing necessary diagrams.

Hieleel & WeH d TRER2feh hapd W feuet wifsm
(3fea o sE0) |

. There are four major types of symmetry present in
animals. Elaborate.

T O Y@ YR i gHEfs 9 S 81 fasga
IS |
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.
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Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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What is the significance of glochidium larva ?

A SaH oIal ol Hed =1 § 2

Enlist the types of larva found in the life cycle
of holometabolous insects.

TAMeEIE ®ie & Sted =@k H 9™ S A

Al o YRRl Wl YEaG i |

State the theory proposed by E.JW.
Barrington in 1965 for chordate ancestry.

FITH & FMEe & U ESEsy. I g’
yfqufea fagra =1 fafaw)

What do you understand by the term
‘Parazoa’ ?

yI=g ‘NS’ | ST N GHed 2
Write two advantages of multicellularity.
TEHITTHAT & & Hed fafem |

Define cladistics taxonomy.

SeTenterRt afifent i afefaa Hifsw)
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(vii) How will you explain ‘Alteration of
generation’ ?

TG THROT Sl T HY g9 w2

(viii) The fusion of dissimilar gametes is known as

STHHM JTHhT T FAS Bl oo FEd T

Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.

TUE—a
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. Explain the neuroendocrine structures in

Lophotrochozoans.

RIS ISITT & TR 37q:@ME] el o1 THAET |

. The sense organs of Ascaris are simple elevations

supplied by nerves. Explain with the help of
suitable diagrams.

T & Fagl 3F dafmeti & Ta Sead €1 3t
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